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GCSE
SCIENCE A (4461) / BIOLOGY (4411)
Objective Test Answer Key
BLY1AP (Human Biology)
March 2011
Foundation Tier

Question Key
A cocaine 3
B nicotine 2
One
C statin 4
D thalidomide 1
A an effector 4
B a receptor 2
Two
C a response 3
D a stimulus 1
A 2 units 1
B 5 units 2
Three
C 6 units 4
D 14 units 3
A doctors 1
B pregnant women 3
Four
C politicians 4
D volunteers 2
A liver 4
. B pituitary gland 1
Five
C kidney 3
D skin 2
A B C D
Six 4 4 4 4
Seven 2 1 3 3
Eight 1 3 3 4
Nine 4 2 1 4
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GCSE
SCIENCE A (4461) / BIOLOGY (4411)
Objective Test Answer Key
BLY1AP (Human Biology)

March 2011
Higher Tier
Question Key
A liver 4
B pituitary gland 1
One
C kidney 3
D skin 2
A result A 4
Two B result B 2
C result C 1
D result D 3
A B Cc D
Three 1 3 3 4
Four 4 2 1 4
Five 4 3 3 2
Six 2 3 2 1
Seven 4 4 4 2
Eight 2 4 2 3
Nine 1 3 3 2
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- - HIGHER TIER - -

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A -D

d QUESTION ONE 1 2 3 4)
1A liver O ORGSO
1B  pituitary gland O 0 ©
1C  kidney s (3 »
1D skin 0 0 o o -
‘ ' QUESTION TWO 12 3 4
2A Result A o O
2B ResultB 0O O O
2C  ResultC O 0O 0O O
\ZD Result D 0 0 o o ):
" QUESTION THREE ) " QUESTION FOUR "~ QUESTION FIVE
1 2 3 4 1 2 3 4 1 2 3 4
3A 3 O O @) 4A @] O o 5A @ (@)
3B ) Q Q ¢ AB @] O O O 5B O &
3C 6] O O 4C O ® &) 5C 9 O O O
‘ _3D O O O O ‘ \“_!-D O @ O O P, ‘5D ‘G O 6 7
|’ QUESTION SIX " QUESTION SEVEN ~  QUESTION EIGHT
1 2 3 4 1 2 3 4 1 2 3 4
‘ 6A Q - ‘ 7A O O 8A @) o) O
6B 0 @) 7B o O o 8B O ®
6C O O 7C O O 0 8C O O O e
: SD O O 8 S 7_2 -~ - ) ?D = - c
© QUESTION NINE
1 2 3 4
9A C e
‘ 9B &
'9C O O C 0
9D O C O :
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- FOUNDATION TIER
} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<
Questions ONE to NINE Choose one response 1 -4 for each of the parts A - D
N QUESTION ONE 1 2 3 4
1A cocaine OROMECHIN O
1B nicotine G O
1C statin g ‘
1D thalidomide 0O O i i
- QUESTION TWO 1 2 3 4\-‘
2A an effector e @ e’ @
2B areceptor oJN®
| 2C aresponse O O
2D astimulus o o o |
| QUESTION THREE 1 2 3 4)
3A 2 units OO 1O
3B S units O O O O
3c 6 units 0O O
3D 14 units A -
o QUESTION FOUR 1 2 3 4
4p doctors ® & w0
4B pregnant women ®
4¢ politicians DO =
' 4D volunteers o o -
d QUESTION FIVE 1 2 3 4
5A liver D O O
5B pituitary gland O @ @ |
5C kidney o o o |-
| 5D skin = . ‘ !
" QUESTION SIX QUESTION SEVEN ) 'QUESTION EIGHT
‘ 1 2 3 4 1 2 3 4 1 2 3 4
. 6A @) & C O 7A O O O O | 8A O O
6B o 5 , 7B Ie) o) 0 | 8B C
‘ 6C O 7C : C O | 8C C S
6D o o© (0 o lo o o) C o
QUESTION NINE
1 2 3 4
9A @ 0
9B O @ C O
l'se O =OF ©
| 9D :
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